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PSSA Math: Map Shown Below (Grade 4); Training Set 2
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MATHEMATICS SECTION 2
. A map is shown below.
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There are right triangles shown on the map.

A. List three roads that form a right triangle.
Otwe S,
Tal s 1,
Licon.ve

There are roads that run paralle! to Troy Ln, shown on the map.

B. List all the roads that run parallel to Troy Ln.
Franklin Ln,
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PSSA Math: Map Shown Below (Grade 4); Training Set 2 T2-1

- MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation,

Jack claims that Farm St. is perpendicular to every road it intersects on the map.

C. Which road proves that Jack’s claim is not correct?
L- » NE, ON ;\ V- f

D. Explain why the map does not have a line of symmetry even thoughiitis in the
shape of arectangle. T 4 0%¢ no+ havte & 5.}"aPC
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PSSA Math: Map Shown Below (Grade 4); Training Set 2

12-2

| MATHEMATICS - SECTION 2
51. A map is shown below.
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There are right triangles shown on the map.

A. List three roads that form a right triangle.

Oltve & \jr\co\y\ hoe, Ean KN

There are roads that run parallel to Troy Ln. shown on the map.

B. List all the roads that run parallel to Troy Ln

Marhn Franldine LA
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PSSA Math: Map Shown Below (Grade 4); Training Set 2

MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

Jack claims that Farm St. is perpendtcular to every road it intersects on the map.

| C. Which road proves that Jack’s claim is not correct?

[emorn Sh

12-2

D. Explain why the map does not have a line of symmetry even though it is in the
shape of a rectangle, -

LLJF does an‘\ %auﬁ a line
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PSSA Math: Map Shown Below (Grade 4); Training Set 2

F MATHEMATICS

51. A map is shown below.
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SECTION 2

T2-3

There are right triangles shown on the map.

A. List three roads that form a right triangle,
36 ne
{0Colq _Ave-
ik

B. Listall the roads that run parallel to Troy Ln.

\we. st
orm ot
lemon 34,

There are roads that run parallel to Troy Ln, shown on the map.
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PSSA Math: Map Shown Below (Grade 4); Training Set 2

T2-3

b MATHEMATICS - SECTION 2

51.  Continued. Please refer to the previous page for task explanation.

Jack claims that Farm St. is perpendicular to every road it intersects on the map.,

C. Which road proves that JacK’s claim is not correct? '
vecoval Of [incon A\gQ, %r:m S+ 7O o Perpenday
+O L’ neon A’“O '

D. Explaln why the map does not have a line of symmetry even though itls in the
shape of arectangle.

eeowse Yaereis Sppes Aot it Tor
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PSSA Math: Map Shown Below (Grade 4); Training Set 2
T2-4

- MATHEMATICS SECTION 2:

51. A map is shown below.

Benson Ln.

—
= e e e a5
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_ Franklinln.
Q o Marlin Ln. g*
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L _ Troy Ln. : :
d i
There are right triangles shown on the map.
| A., List three roads that form arizi:at triangle. |
[} L] ¥
Olive Sty Benson Ln,; Lincoln /ves

“There are roads that run parallel to Troy Ln. shown on the map.

B. Listall the roads that run parallel to Troy Ln,

Benson Lny Franklinin, mactin Ln



csloan
Text Box

csloan
Pencil


PSSA Math: Map Shown Below (G'rade 4); Training Set 2

T2-4

= MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

Jack claims that Farm St, is perpendlcular to every road it intersects on the map.

C.. Which road proves that Jack’s claim is not Correct
. UY\(,O[Y) /‘\‘\16 16 'Hf\é’/ m ; }m— Pm\/&sﬂﬂf‘
TJack's claim i, not ¢0

D. Explain why the map does not have a line of symmetry even though |t isin the
shape of arectangle.

12 map does NOT havé a line ot
i me"g’ H’M h Itis in Hhe

Shape ofa f ooraigle bochise Lincolnw
d0es Not- Split: Hhe.rectangle evely
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PSSA Math: Map Shown Below (Grade 4); Training Set 2
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51.

MATHEMATICS SECTION 2

A map is shown below.
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T2-5

There are right triangles shown on the map.

A. List three roads that form a fi%ﬂangleﬂ + ‘
i : ivest.s
Lincola Ave, far ot and - (livest,

| There are roads that run parallel to Troy Ln, shown on the map.

B. Listall the roads that run parallel to Troy Ln.

| eitoa st Franklin la. and Macin La,
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PSSA Math: Map Shown Below (Grade 4); Training Set 2

12-5
k MATHEMATICS ~ SECTION 2

§1. Continued. Please refer to the previous page for task explanation,

Jack claims that Farm St, is perpendicular to every road it intersects on the map.

C. Which road proves that Jack’s claim is not correct?

Lincoln Ave.

D. Explain why the map does not have a line of symmetry even thoughiitis in the
shape of a rectangle,

Because three jwads are df ‘
Three Toaas are ditferent siyes: Troy La.
Benson Lo, and Olive ¢t y
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PSSA Math: Map Shown Below (Grade 4); Training Set 2
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51.

MATHEMATICS SECTION 2
A map is shown below.
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T2-6

.There are right trfangles shown on the map,
A. Listthree roads that form a right triangle.
| for m <

7 LincoO\n ove
-3 frami i LN

Hbenson Ln

There are roads that run parallel to Troy Ln. shown on the map.

B. Listall the roads that run parallel to Troy Ln;

[V yewr i L
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PSSA Math: Map Shown Below (Grade 4); Training Set 2
T2-6

= MATHEMATICS SECTION 2

51,  Confinued. Please refer to the previcus page for task explanation.

Jack claims that Farm St. is perpendicular to every road it intersects on the map.

C. Which road proves that Jack's claim is not correct? \__
ToaXQs  Cliom 15 oey correct

| : ‘FQ.&’MS*-‘ Vs Powrodl el Nhe

oy L0
D. Explain why the map does not have a line of symmetry even though It is in the
shape of a rectangle. : ol
vy |
X v
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PSSA Math: Map Shown Below (Grade 4); Training Set 2
T12-7

- MATHEMATICS SECTION2

51, A map is shown below. -
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There are right triangles shown on the map,
BT Rorgon foy

M A,

There are roads that run parallel to Troy Ln. shown on the map.

A. List three roads that form a right triangle.

-

B. Listall the roads that run parallel to Troy Ln. ;
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PSSA Math: Map Shown Below (Grade 4); Training Set 2
T2-7

a2 MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

—r ecmverr e oo — s .
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| Jack claims that Fam St, is perpendicular to every road it intersects on the map.

C. Which road proves that Jack’s claim is not correct?
\3)

- T —er

D. Explain why the map does not have a line of symmetry even thoughiitis inthe,
shape of a rectangle,, :
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PSSA Math: Map Shown Below (Grade 4); Training Set 2

pe MATHEMATICS SECTION 2
51,  Amap is shown below,
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There are right triangles shown on the map,

A, List three roads that form a right friangle,

Mackin LN
s Form sk
_ Lincoly A,

There are roads that run paralle! to Troy Ly, shown on the ma@ enson L n
B. Listallthe yoads that run parallel {o Troy Ln, ‘
CMJ e It ,

LeMon 5,
| T@ D ol
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MATHEMATICS SECTION 2

51, Confinued. Please refer to the previous page for task explanation,

T2-8

Jack clafms that Farm St is perpendlcular {o every road it Intersecls on the map.

C. Which road proves that Jack's claim is not correct?

fronlin lane

shape of a rectangle,

(B—‘Jl? \\(\ @(‘,
\Qe‘(’&)ﬁ\ Qg,‘(()&

D. Explain why the map does nothave a Ime of symmelry even though itisinthe
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r MATHEMATICS SECTION 2

51. Amap is shown below,

| ?

Benson Ln. .

1S 8AllO
IS wed.

» .. Franklin Ln.
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e /\>Q @ __ MarlinLn. g
3 / 3 (]

=

1 / @ %
J . Troy Ln, .
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There are right triangles shown on the map.

A. List threé roads that form a right triangle.

Linédn Averwe, Farm strd, and. Marlin Lan,

There are roads that run parallel to Troy Ln. shown on the map.

B. Listall the roads that run parallel to Troy Ln.

Marlin Lane, Franklih Lang,and Gensan
Laneq '
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T2-9

MATHEMATICS SECTION 2

51. Continued, Please refer to the previous page for task explanation.

Jack claims that Farm St. is perpendicular to every road it intersects on the map.

C. Which road proves that Jack’s claim is not correct?

lineshn Ave. runs intd Barm 22, CY‘chS)‘ﬂg
ON alute angle not  w ri*ﬁht angle,

D. Explain why the map does not have a line of symmetry even though it is in the
shape of a rectangle.

The map doesnt have & line
ot -S.qmmzém/ even theugh its a
reebangle  begavse e Syubes aven’t
rghe. Another teassn is,  streets do
fob nadch bp correetly. 160 wold ok
be oble o fold the sides withdet
haviay. unesen sides, For al| thése feasse
"6!4:'_8'. s wh«./ ogen %03}“7 'b}'l& M “p
s a V‘ﬁf’-ﬁ‘“‘jl& % does not have

oy hnes  of Symierby,
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MATHEMATICS SECTION 2
A map is shown below.
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'There are right triangles shown on the map.

A. List three roads that form a right triangle.

Fronkiin 0

Lincaln Aves Lemon T

ond

There are roads that run parallel to Troy Ln. shown on the map.

B. List all the roads that run parallel to Troy Ln,

Q’“C‘ M arlin Ln

Beason Lny Froakiiy \-’\T
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T2-10

MATHEMATICS SECTION 2

51. Continued., Please refer to the previous page for task explanation.

Jack ctaims that Farm St. is perpendicular fo every road it intersects on the map.

C. Which road proves that Jack’s claim is not correct?

Lincoeln Avye

D. Explain why the map does not have a line of symmetry even thoughiitis in the
shape of a rectangle.
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PSSA Math: Map Shown Below (Grade 4), Training Set Two

Subject: Math ltem: Map Shown Below Grade: 4

Name

Number Score Notes

T2-1

T2-2

T2-3

T2-4

T2-5

T2-6

T2-7

T2-8

T2-9

T2-10
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